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#include "stdio.h"

#include <math.h>

#pragma warning(disable:4996)
int main()

{

char line[100];

char name[100];

char birth[100],

char address[100];

FILE *in_file;

int ch;

in_file = fopen("d:¥¥Book1.txt", "r");

if (in_file == NULL ) {
return O;

by

while( fgets( line, 100, in_file ) '= NULL ) {
sscanf_s( line, "%s %s %s", name, birth, address );
printf( "name=%s, address=%s¥n", name, address );

by

fclose(in_file),

ch = getchar();

ch = getchar();

return O;
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#include "stdio.h”™
#include <math.h>
#pragma warning(disable:4996) s 2
int main()
{

char line[100],

char name[100];

char birth[100];

char address[100]; fopen BEET, NULL (X
FILE *in_file; [T7AIVA—T > DK

int ch;
in_file = fopen("d:¥¥Book1.txt", "r");
FUinfile == NULLIL 1 D7 (LA -T2 ICRBMUTE

return O; e, —
y ESDHEITENDED
while( fgets( line, 100, in_file ) '= NULL ) {

sscanf_s( line, "%s %s %s", name, birth, address );

printf( "name=%s, address=%s¥n", name, address );

} n — [ | \
fclose(in_file); while (C K 55%& Nz L

ch = getchar();
ch = getchar(); fgets BAENT, NULL (&

return 0; [T 71 ILDFEHD ] e16
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In_file = fopen("d:¥¥Book1.txt", "r");
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line[99]

®

fgets( line, 100, in_file )

sscanf_s( line, "%s %s %s", nal

me, birth, addre
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namebirthaddress
©

| printf( "name=%s, ‘
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#include "stdio.h" S
#include <math.h>
int main()
{
int i; ZFEN NGRS double 2
double ip = 0.0;
double u[]={1.9, 2.8, 3.7};
double v[]={4.6, 5.5, 6.4};
int ch;
for (i=0; 1<3; 1++) {
ip = Ip + u[i]*v[i];
)
printf("PIIR=%f¥n", ip);
ch = getchar();
ch = getchar();
return O;




#include "stdio.h"
#include <math.h>
int main()

{

5.

DrafFase Zak.

X E VRS KOHEREMTION S,

ZE u, v (&, FEVNE

inti;
double ip = 0.0;

double u[1={1.9, 2.8,

+
}.

4

3.7
double v[1={4.6, 5.5, 6.4

int ch;
for (i=0; i<3; i++) {
ip = ip + uli]*v[i];
¥
printf("MWIE=%f¥n", ip);
ch = getchar();
ch = getchar();
return O;
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=0, 1, 2 CORDEL o 0
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for (i=0; i<3; i++) { u \Y
ip = ip + uli]*v[i];
} “ — / 0 0
i=0mE= 1.9 il
ip + u[0]*v[0] > 8 1 5.5 1
3.7 2
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i=0,1,2 COEDRL 8.74 L
(3EENEL) ﬁ
N v o
R(d i =1 8.74 + 2.8 * 5.5
for (i=0; i<3; i++) { u v
}ip = ip + uli]*vl[i];
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for (i=0; i<3; i++) <
ip = ip + u[i]*V[il;
}

12 03I L&A |
PR DI DhY ip OB

1 =0

i < 3MENIID  ip =ip 4 u[0] * v[0];

DFED ip DfE(E u[0]*Vv[0]

i < 3MEEDIID  ip =ip + u[1] * v[1];

DFED ip DIE(E u[0]*Vv[0] + u[1]*V[1]

i < 3R DIZID  ip =ip + u[2] * v[2];

DFED ip DE(E u[0]*Vv[0] + u[1]*V[1]
+u[2]*v[2]
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#include "stdio.h"
#include <math.h>
int main()
{
int i;
double ip = 0.0;
double u[]={1.9, 2.8, 3.7};
double v[]={4.6, 5.5, 6.4};
int ch;
for (i=0; 1<3; 1++) {
ip = ip + uli]*v[i];
}
printf("PIE=%Tf¥n", ip);
ch = getchar();
ch = getchar();
return O;
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#include "stdio.h" s 5t
#include <math.h>
int main()
I
IntI;
int j;
int ch;
for (i=0; iI<7; i++) { =
for (j=0; j<a[il; j++) < } ﬁgﬂiﬁw
printf("*"); oL
}
printf("¥n");
}
ch = getchar();
ch = getchar();
return O;
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